Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ty v Reedi & I dHaRd
QISG/3ET/EEAT &l FAT |
WT»IT:W&%::?!IW:?

A. 3ee] B. R

C. =gl D. ST

B

e v Reeul & T waltg
QIE/3TET/TEAT &l JfAT |

NPR : GHI : : TVX :?

A. JKL B. KLM

C. 1K D. IKL

A

e v f[&Feur H F FHaOGT
AISE/3eT/TEAT T AT |

AF : BE: :?:DH

A. CH B.

C. DG D. CI

D

Re v R&Feur HF& T gal®a
QIC/JTER/EET &l Gl |
36:6::441:7

A, 11 B. 21

C. 25 D. 32

B

o av [ereul # O fQuH Use/3reRi/aEam
) ) |

A. ST B. &l

C. G el D. %

D

A 9T Qereul H O qwH Usc/3eRi/IaE&aT
) o) |

A. MPS B. WzC

C. FHJ D. ADG

C

o 9T Areul H O [AUH 2rea/376T0/TEAT
9 9 |

A. 512 B. 841

C. 576 D. 289

A

e v Rpeul H O Qv rec/3reRi/awr
I AT |

9 9

A. 165 B. 792

C. 852 D. 671

C

Ans.

10.

Ans.

11.

Ans.

12.

Ans.

13.

U A fear o B, fSed @ U ug
ad ¥ | Ru v fwedt F & g @@
Ahed giAT, S 37The HT QW W |
TRRIAT, 315hTenT, 3ol 3@ReET, ?

A. e B. 3frecforr
C. @halTeT D. SIrdTeT
B

T 3ephd fear o g, fSed @ U ug
ad ¢ | Ru v fwedt & & aw @@
R R, St S A O R |

DP, EY, FJ, ?

A. GX B. GS
C. GT D. GW
D

A series is given with one term missing.
Choose the correct alternative from the
given ones that will complete the series.
DAF, FED, HIB, ?

A. IMZ B. JOY
C. LUX D. JOZ
A

Th IeThA fear g g, e @ wh ug
oad & | Re v Rwed & & aw @@

e ’Eﬁ ) El—frtlgrah‘%|
7,42, 210, 840, ?

A. 1240 B. 2640
C. 1680 D. 2520
D

frAfaf@a g #, & Fud w av §

Sad 3mr & fashy 1 3R 11 @Aeprer v &

| 39 AT § R ue wew § AR @

AT AT J2ar & et Il g & |

3geRr v & § fr fw ot st &

¥ FiaT /AT F [Aad T T wYA

GaRT TET fAhIell ST dhal &/@shd &, afg

s 8l |

HUA

1, oo ARl # Weld ¢ |

2. 3EY 3¢ HHEN ¥ S AR vy
ol I gfte fAedr § |

Gz

1. geaf & Ayt Rew & O fdes #
W g SR § |

2. 9= FI ggrs R Wor & §IT uw
AT gl AT |




Ans.

14.

Ans.

15.

Ans.

16.

Ans.

17.

Ans.

18.

Ans.

19.

Ans.

hael folsehd 11 ome] giell § |
sharel 1 3R 11 21t o9y 8Yel ¥ |
of ISRt 1 € 11 #f9] gIeTl § |
ael fosehy 1 e g1 ¢ |

oo wp

D
Coh 9§ EH SIer 49 § 3R Es 99 B
T e Y9 8 | ¢, A a6 gAY Hed
el & | 57 T H @ FEd o wead gH
4T 87

A. C B.
C. B D.
B
Ffaf@a Usel # Usgy FH 3 arel

A & HTAR T |

A
E

i. Monopoly ii. Manifesto
iii. Manifold iv. Mankind

A, i, dii, v, 1 B. iii, ii, iv, i
C. i, iii, v, ii D. i, iv, iii, ii

A
Rdr R[S s 9T A, "HISTORY" &

"XQNSRHI" for@r Sirar § | 39 &5 AT &
"EHICS" &l v YR for@r smuen?

A. DSGHBR B. RBHGSF
C. RBHDSG D. GSDRBH
B

I wesT # U a0 &Seur & I
Icd 3 AT I

6 10

7 2

3 4
A. 9 B. 8
C. 6 D. 7
C

g "S" # Y qUmT §, V' B Y
“OeTT g, "M" @7 7T ‘A’ fRar 3k L
FT JT “HEr F, ar
96L8S4VI6EM9="?

A. 32 B. 37
C. 41 D. 48
C

AT gt & 3RT &1 @il a1 Fog
el TUAT IW AR (W@ T &) 75 36
AT N G FHLIM?

cecdfdf

A. dfcec B. dfece
C. cfede D. cdfed
B

20.

Ans,

21,

Ans.

22.

Ans.

T ASH 3R T ASh Uh @R & 3o~
oot § | afE oS, oS F IH-uRAA
fger & &, r o5, @S & fohe fqem &

g2

A. 3T B. &fgyor
C. ud D. efeior-qd
D

Teh QAq haol Ueh HEAT-HHE GaNT crirdm
I g, SEfE fAdedl F & R e #
fear s § | feredl # QU a1 wear wag
&Y & a1 g9t ganr grifv Irv §, o &
A QU 9T @ megel A | WG 1 H
T 3R ufeFd AT TEam o g 4 F & 1S
AR e U A 5 9 § T ¥ | &
MePEl H Th IEN H g 3HHI Uiekdl
AR ¢ A T HEAT GarT guATEr S
ear § | 3eeor & fow R’ & 12, 23
G arT gAfr ST AHhar § Ja1 'G' #
77, 88, M SaRT GUTAT ST FeheT § | 33T
RE ¥ 3Tl g2l H fGU 2rsq 'FRIEND' &
foIv | & qgurter § |

Matrix-1 Matrix-Il

TE - | 3Tg - Il
0[1]2]3]4 s5[6]7[8]9
o[ L|R[s|T][T s[G|N[T[P]Q
TJEJLIRISIT 6| F[G|N[I]P
2IDIEJLIRISE [FTc[F[G[N]I
SO IETL ] owiclrlol
9| M|M|C[F[N

76, 23, 85, 21, 78, 20
87, 23, 79, 21, 78, 20
87, 12, 68, 21, 99, 33
98, 23, 68, 96, 78, 20

o 0wy

IR HT Teh A1S faSO] §, AR, AT
ST E | &9 UaT ¥ Rar ¥ | deut &
3R, fasy &7 @ o wefta g7

A. drem B. far
C. 9IS D. TIRT TS
A



23.

Ans.

24,

Ans.

25.

Ans.

26.

Ans.

Ifg TH gUUT @ MN [T W @ AT, ar
& S IW S A ¥ FaEr e
URa 3Mehfcl &I WET Uifaes graf?

M
CGL |}
07
N
doC JGI
T N
A. B. L
190 199
JAN/ TN
C. D.

D
F @ T S A Rw e qeit & b
% T HT TET HEIT BT § |

000

C. D.
D

A & g 3Mepfoal A AR ITER HETS
P ASH Dl JAT Wil & o6 98 5
3R i ST @ gam?

Ol

© o o o

82 0,00
A. B

OOOOOO

oooooo 008800
C. D.
C
ATA-ITaT3TS Wided e p=)
g
A. TSIEATT B. 3@H
C. fogr D. IR
D

27.

Ans.

28.

Ans.

29.

Ans.

30.

Ans.

Ans.

32.

Ans.

33.

Ans,

FH BT CANT WItd Hdled AR
AT %
A. GGHT AT B. UGHAT &IN0T

C. UeAr f[dWor  D. #RA Teod
B
RS & AT & HROT Do FT T glell

g7
A. ReheH THar

C. 3ISHATAT D. Tahre T Tehell
C
Afafoar Jewer FT JATAS

GIE
A. 9O B. IralieT

C. RoR 3= D. cgd
C

IMefeeh A RN A 18 HEg 3R 7
T @ § | 3§ dcd i RA] e
F21 g, O ey weg AR A e &

w

TE@T T §72

A. 23 B. 21

C. 19 D. 11

B

Ffof@a g & 9 ger geg &7
IR &7

A. 3TFEe B. Mes

Cc. [eax D. H=AreT

A

FTIET T et FFE AT ST 82
Aoy Solol

feor s o

SIS Flel TSTolac

TER Hifear

I QMR T g
3T weer
3TEUTTT UGeT
g, el
STF 3R FHeHAR

©O9U 0 WP Yo 0@ >



34.

Ans.

35.

Ans.

36.

Ans.

37.

Ans.

38.

Ans.

39.

Ans.

40.

Ans.

Harehiiaeliad HEY e 3afer g2

A, TWMAR 3Td FERHIfd & AT 39
SISTITRT

B. TR 3Td HpHIid & Y FA
SUSTITRT

C. MR &A HFEHT & Y 39
SIS

D. WMAR A HoHfd & T FA
SASTIRY

A

ST H it A WeTer3H I a1 ot I §

S ST R F R g T 87

A. CH,CIF B. GCH,
C. PR, D. COCI,
A

IRAR AT Ik [ohd 9da &J@elr 7 g2
A. 3Gl IadHTT

B. fd&T gdd ATl

C. qdr =

D. UfRa#r gre

D

STerel dolel I TR IR Hlel dlel T
IR |

A, 3T B. T 3fararel

c. AT a= D. 3T &gl

C

SAH § Pl T T 3R TFR H TUd g2
A. 37EAT &9 B. e &

C. @&4TgdIq gailg D, 3WIed T

C

PFfei@a & 9 39 a1 I9 3IREs &
AT 3791 TIAT HT ATST I8l PAT?

A. ALY B. TITIG
C. 3941 D. U. S9Tol
A

HiCIT Jeur & YAl FHE 3RAF o ford
U & TR AT ar?

A, ST B. sigy
C. 3ES D. SlalssH
B

41.

Ans,

42,

Ans,

43.

Ans,

44,

Ans.

45,

Ans.

46.

Ans.

e S o Y a¥ #F G gl

I T Hr A7

A. 1880 B. 1900
C. 1920 D. 1940
C

TFH-Y T JMaShR fohaetr fomam am?
CRZ IR

faferaer <

TFH Jedldsh

3T el

>

>0 0w

Tk 3d o ol AT &I IaT @My, IS
afdfse &7 e ol & 25 AAL AT g W
BIT &, S o @ oF & gl Y& W
Hiftesher &g ¥ 12 QAL &1 gt W @
IAT 872

A. -4.333@AICT  B. 12.33 S

C. -12.333™%eI D. 4.333™Arced
B

T AT TSdT T SRS FAT §2
A. aIc 9fd sieded

B. &g Ufd dieas

C. UrEhel Yid hicdel

D. SfeT Jfcr Shiedst
D
Hid T e[ede Jodsh ANRE & Hitdh

el Fr AfEse Far §72
. 3T 80

. 3ITOE 343

. 3T 51A

. 37eJTiT 356

O oo 0O »w r

AR HigUeT & 3eese 173 Usd
fAueAsa A deEgdr & fav  Jgeyar
e gafrd g2

A. T & AfT e e

B. T WHR

C. hog AN

D. HARAT AR & HAlfeld JFR
B



47.

Ans.

48.

Ans.

49,

Ans.

50.

Ans.

51.

Ans.

52.

Ans.

HIgH A fFd Wel & FFafeerd §7
A. Gedid

B. dMeH

C. e g IR

D. oRThT
C
“T ITE” & TWGH Pl 57

A. Afga aao B. fAdrer @der

C. HARGAT WX D. 3G Aleiehdel
B
IiE Teh TEJ I AT Al9T 5000 FHSAT

TG 5200 FHGA T Fgdd T IHA
AT P1 T ¥ gEa 190 & g S § 3R
gie AT 1 g g -0.8 § ar P1
IGEACK

A. 220 % B. 240 %
C. 200 % D. 250 %
C

9 Teh FHedthel HI Th Holsh & & H
giotd fRar ST §, d9 Ig JIeuT &

T TR | Rud &2

A. T B. %

C. 9RaR D. §Y

D

If¢ cos45° —sec60° =x, dl x T AT AT
&2

A. (\/ﬂ)/zﬁ B. 1

C. (1-22)/42 D. (V3+42)/2

C
T AT 400 5.8, & I 30 & 4

Yo gary 3R 3MfAF §9 @ e q@rr qf
AT § | 98 STES W 9 e e @Ay
T HAT & | IfE STgrer & afd 30 fom.AT
HeT § 3R Yeemer Y a1t 70 P/ eer
¢, a8 STeTel ¥ frdell gl @ aar €72

A. 309 f&.#. B. 371 f&.A
C. 464 f.#. D. 556 f&.# .
A

53.

Ans,

54,

Ans.

55.

Ans.

56.

Ans,

57.

Ans.

58.

Ans,

WH Th AT 48 o@ ¥ H °ic H oddr
g | Ife 3ua 360 @ T H 9T g, ar
3T oM 38k g ©IC &M 5 A1 Gl |
AT T HT HoT reed &Y |

A. 58 G ¥ B. 69.6 W &

C. 42 9@ % D. 50 d® ¥

D

i (1+cosA)/2 =X, al x & &7 AT g7
A. sin?(A/2) B. Vsin(A/2)

C. +cos(A/2) D. cos?(A/2)

D

Ife Hear 583437 41 R # 9 @
faarsa &, a1 Wl T W 7 geidd qolieh
FIT gIam?
A 4

C. 3
D

al §EAI US el HEAr N Jeen #
35% 31X 50% FH § | gAY HTAT H ggell
TEAT & S A & v frda ufaea

B. 5
D. 6

T JolaTT gram?

A. 23.08 gfaera B. 15 gfaerd
C. 25 gfaera D. 30 vfgea
D

Tk S Y a1V FT q 15% Thacie
ST T UARY TRT § | Th ATgh Th ay
A 1 Serall 3 1 ST @ 2400 & AT
AT § | 9 & 3 H AT & AIA ¥

30 Tohaar T &1 o197 gem?

A. 2268 % B. 1134 ¥
C. 567 % D. 283 %
B

Ifg secA+tanA =x, dl x &l FIT AT g2
A. cosA/(1+sinA)

B. \/[cos A/(1-sin A)]

C. \/[cos A/(1+sinA)]

D. cosA/(1-sinA)



59.

Ans.

60.

Ans.

61.

Ans.

62.

Ans.

63.

Ans.

64.

Ans.

T o gEa’ qdr &), foeer At
T 16 § 3 Al eTone 1024 ¥ |

A. 43T 32 B. 43 64
C. 8 3T 64 D. 83k 32
B

3.5 9.8 Bear 3k 12 9. FuE aren
T A% G0 e § el § &% A Sirerr &
| 6 9 & 7 AL fT Bear & v @rell
SOIPR S H @l & A & | 59

TaoT H U= T ST FAr gei?

A. 2T B. 0.33 4.
C. 0.53.7m. D. 13

D

afe e qASTE ST T oo H oSS 8
QA 8, o 39 e # &A%l AT |
A. 323 g I,

B. 16 g9 .3,

C. 16V3 @ ..

D. 323 T.A.
C

A. (18/13, 12/13)

B. (18/13,-12/13)

C. (-18/13,-12/13)

D. (-18/13, 12/13)

B

QeT, INfder 3R AT 3iMad Fei= 65 foh.am.
¢ | afe et 3R Afder @ sitwa ao 63
Far. gar § 3R Mfder ik Wew @& v
itaa gt 70 foRam. grar §, ar afder @

JoleT &

A. 41 B. 71
C. 88 D. 46
B

Tsh U ga@us @ oers foere, forae
Feard HIUT 45° § IR gd AT BFAr 28

oA §7?

A, 1194 B. 33 3.
C. 44 QA D. 22 4.5,
D

65.

Ans.

66.

Ans.

67.

Ans.

68.

Ans.

69.

Ans.

70.

Ans.

71.

Ans.

U&h g7 & &9%d 100 997 AT §, or

30 AT Y oiers Heprel?

A. 10vV2 9.7 B. 10 ¥.#.

C. 20 9.7 D. 20v2 &.5.
D

Teh qaFh & feehe &l Hed 1500 F § 3R

TH god & fehe & Hed 800 ¥ § | a
IR & TY 1 FTaT fAfed S Hehell §
| e Tk HHg H 25 9UFh N 12 9= §
dl 38 FHg A fhdell g Herm?

A. 26.479fdd  B. 20.38 9faerd

C. 31.609fderd  D. 33.33 yfaed

B
e (9-3x)—(17x-10)=-1, @ x & HAlT
&

A1 B. -1

C. 9/10 D. -9/10

A

e a-b=-7 3R & +b*> =85, d ab 7T
|

A. 18 B. -30

C. -44 D. -60

A

USTer o 30 feoT & Ueh A HT 1/2 HET G
&Y forar § | 99T o §31Tch|d+45%<‘rrfr
T &ar ¢ | =t e I8 F foae
et 3 qU #X Fwd §?

A. 18 e B. 48 fgeT
C. 27 = D. 36 feaT
D

Teh 3T TEAT 3N 58k Johd o It
T IWT 52/7 & | &7 AT HY |

A. 8 B. 9
cC. 7 D. 6
C

& 2x —2(3+4x) < -1-2x > -5/3-x/3; @
X & AT AT G2

A1 B. 2
c. -2 D. -1
D



72. & @ v Ser afesr & MR W
@ 99T &7 39X & |
Weight (kg) | Height in
dofel meter
(Fretama) | 3918 (AX)
Aabha/31sT 68 1.68
Aahana/318T=T 77 1.57
Aakaanksha/3TeTelr 55 1.8
Aakriti/3Tehier 51 1.76
golel 3R FTS o1 3feaTd el Tl
g7
A, 3THT B. 3G
C. 3ATepiam D. 3Mefd
Ans. D
73. #d R v 3o afes & MR W
TR Wl &7 3¢ & |
Year Company’s % Profit
¥ HUAT BT ATH %
2011 10
2012 25
2013 20
2014 15
2015 20
IfE Teh YT FT eTF 3T a¥ H 225 HUs
U o7 S8 3P AT % FEH HH I,
AT HYAT FT ASTET ThctelT AT?
A. 270 B. 247.5
C. 292.5 D. 225
Ans. B
74. TarATaf@a afos & @ & T38% oY

& et i gear e ¥ |

Number of Children | Number of Houses
ool fT gE&ar RIS F&T
0 4
1 10
2 19
3 3
T TR H ST o1 3iaa g w4 §7
A. 1.58 B. 1.83
C. 2.08 D. 1.33
Ans. A

75.

d Y sw ser afder & 3MR @

fAFAfIf@T U2 &7 3R & |

Partners Present % share

R EIITARS gaAT % feEar
Anand / 3Tdg 15
Basu / g 5
Chinmay / R=ag 15
Dhiraj / €T 20
Ejaz / TaTaT 45

Ans.
76.

Ans.
77.

Ans.
78.

Ans.
79.

Ans.

Ife Th HYAT F U U Rt & &
o o RR S FU E AR IPR 9g
TS @ 39 RRT H & 15,000 ST T
T HIAT g, dl Tolel & 918 fohdel R
giar?

A. 270000 2T

C. 255000 T

D

In the following question, the sentence
given with blank to be filled in with an
appropriate  word. Select the correct
alternative out of the four and indicate it by
selecting the appropriate option.

Purush wandered through life,
with no clear ideas of where he was

B. 300000 R
D. 285000

heading and what he wanted to
accomplish,

A. madly B. excitedly

C. crazily D. aimlessly

D

Improve the bracketed part of the
sentence. Would it be impolite (to be
asked) why they are leaving?

A. to ask B. for asking

C. for being asked D. no improvement
A

Rearrange the parts of the sentence in
correct order.

We should learn our lesson

P-from this history and stay away

Q-of our neighbours

R-from interfering in the messy domestic

politics

A. PRQ B. PQR

C. QPR D. RPQ

A

Select the antonym of

to hew

A. to prune B. to chop
C. to agglutinate D. to cleave
C



80.

Ans.

81.

Ans.

82.

Ans.

83.

Ans.

84.

Ans.

85.

Ans.

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it
by selecting the appropriate option.

The chess player moved his piece to a

more position, securing the
win.

A. profitable B. auspicious

C. advantageous D. worthwhile

C

Select the synonym of

maestro

A. neophyte B. catechumen

C. sophomore D. conductor

D

In the following question, a sentence has
been given in Direct/Indirect speech. Out
of the four alternatives suggested, select
the one, which best express the same
sentence in Indirect/Direct speech.

The coach said, "Don’t move, boys."

A. The coach told to the boys don't move.

B. The coach said to the boys not to be
moving.

C. The coach asked the boys not to move.

D. The coach told to them, don't move
boys.

C

Rearrange the parts of the sentence in
correct order.

Public goods are

P-important as they

Q-mitigate the impact of
R-income poverty and inequality

A. QRP B. PQR

C. RPQ D. QPR

B

Improve the bracketed part of the
sentence.

The workers are bent (on) getting a full
months pay as bonus.

A. for B. upon

C. to D. no improvement
B

Select the antonym of

to flay

A. to scalp B. to peel

C. to excoriate D. to sheath

D

86.

Ans.

87.

Ans,
288.

Ans.

89.

Ans.

90.

Ans.

In the following question, a sentence has
been given in Active/Passive voice. Out of
four alternatives suggested, select the one,
which best expresses the same sentence in
Passive/Active voice.

They will advise me about the price of the
accessories.

A. 1 will have been advised about the
price of the accessories.

B. I would have been advised about the
price of the accessories.

C. I shall be advised about the price of
the accessories.

D. I would have had been advised about
the price of the accessories.

C

Select the word with the correct spelling.
A. Paraguay B. snugled

C. gimmicky D. benifice

A

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and
select the appropriate option. If a sentence
is free from error, select 'No Error'.

Mother does not hardly(A)/know what

happened(B)/in school yesterday.(C)/No
error(D)

A. A B. B

C. C D. D

A

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and
select the appropriate option. If a sentence
is free from error, select 'No Error'.

No beggar who comes (A) /to our doors
(B)/goes back empty handed. (C)/ No error

(D)

A. A B. B
c. C D. D
B

In the following question, out of the four
alternatives, select the alternative which is
the best substitute of the phrase.

To lift or haul something heavy with great
effort.

A. heave B. shrimp
C. wimp D. runt
A



91.

Ans.

92.

Ans.

93.

Ans.

94,

Ans.

95.

Ans.

96.

In the following question, out of the four
alternatives, select the alternative which

best expresses the meaning of the

idiom/phrase.

flea market

A. a market for semi-precious stones and
jewellery

B. a market where stolen goods are sold

C. a street market selling second-hand
goods

D. a small but crowded and noisy place

C

Select the word with the correct spelling.

A. libretto B. jazziest
C. seraphim D. kamikaze
B

Select the synonym of

troll

A. spruce B. suave
C. gnome D. dapper
C

In the following question, out of the four
alternatives, select the alternative which is
the best substitute of the phrase.

A conclusion or agreement done or reached
decisively and with authority.

A. precise B. definitive
C. reliable D. specific
B

In the following question, out of the four

alternatives, select the alternative which

best expresses the meaning of the

idiom/phrase.

flesh and blood

A. a very gory murder scene

B. a lot of hard work

C. loss of lives in battle

D. a person's physical
needs and frailties

body and their

D
In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.
The scene will now shift to obtaining
instruments of ratification to bring
the agreement into force 2020,
the first vyear of its
implementation. The agreement will enter
into force with the ratification of
55 countries, whose aggregate
gas (GHG) emissions

greenhouse

in

Ans.

97.

Ans.

98.

Ans.

99.

at least 55 per cent of global

emissions.

The scene will now shift to obtaining
instruments

A. enough B. full

C. lavish D. comfortable

A

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.
The scene will now shift to obtaining

instruments of ratification to bring

the agreement into force 2020,

the first vyear of its

implementation. The agreement will enter

into force with the ratification of
55 countries, whose aggregate

greenhouse gas (GHG) emissions

at least 55 per cent of global

emissions.

bring the agreement into force

2020

A. on B. before

C. at D. previous

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.
The scene will now shift to obtaining
instruments of ratification to bring
the agreement into force 2020,
the first vyear of its
implementation. The agreement will enter
into force with the ratification of
55 countries, whose aggregate
gas (GHG) emissions
at least 55 per cent of global

greenhouse

emissions.

the first vyear

implementation.

A. proposal

C. supposed

D

In the following passage, some of the

words have been left out. Read the

passage carefully and select the correct

answer for the given blank out of the four

alternatives.

The scene will now shift to obtaining
instruments of ratification to bring

the agreement into force 2020,

of its

B. proposition
D. proposed



Ans.
100.

Ans.

the first vyear of its
implementation. The agreement will enter
into force with the ratification of

55 countries, whose aggregate
greenhouse gas (GHG) emissions
at least 55 per cent of global

emissions.

The agreement will enter into force with
the ratification of 55 countries
A. partially B. atleast

C. slightly D. somewhat

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.
The scene will now shift to obtaining
instruments of ratification to bring
the agreement into force 2020,
the first vyear of its
implementation. The agreement will enter
into force with the ratification of
55 countries, whose aggregate
greenhouse gas (GHG) emissions
at least 55 per cent of global

emissions.

whose aggregate greenhouse gas (GHG)
emissions at least 55 per cent
of global emissions.

A. established B. constitute

C. enact D. complement

B
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